
Item Description U/M Set

1320045 BOLT - CARRIAGE 1/4" x 1" ea

1320050 BOLT - CARRIAGE 1/4" x 1-1/2" ea

1320060 BOLT - CARRIAGE 1/4" x 2-1/2" ea

1320065 BOLT - CARRIAGE 1/4" x 3" ea

1320070 BOLT - CARRIAGE 1/4" x 4" ea

1320075 BOLT - CARRIAGE 1/4" x 5" ea

1320080 BOLT - CARRIAGE 1/4" x 6" ea

1320105 BOLT - CARRIAGE 5/16" x 6" ea

1320120 BOLT - CARRIAGE 3/8" x 2" ea

1320135 BOLT - CARRIAGE 3/8" x 4" ea

1320175 BOLT - CARRIAGE 1/2" x 4" ea

1320195 BOLT - MACHINE, HEX HEAD 1/4" x 1/2" ea

1320200 BOLT - MACHINE, HEX HEAD 1/4" x 3/4" ea

1320205 BOLT - MACHINE, HEX HEAD 1/4" x 1" ea

1320210 BOLT - MACHINE, HEX HEAD 1/4" x 1-1/4" ea

1320215 BOLT - MACHINE, HEX HEAD 1/4" x 1-1/2" ea

1320220 BOLT - MACHINE, HEX HEAD 1/4" x 1-3/4" ea

1320225 BOLT - MACHINE, HEX HEAD 1/4" x 2" ea

1320230 BOLT - MACHINE, HEX HEAD 1/4" x 2-1/2" ea

1320235 BOLT - MACHINE, HEX HEAD 1/4" x 3" ea

1320240 BOLT - MACHINE, HEX HEAD 1/4" x 4" ea

1320243 BOLT - MACHINE, HEX HEAD 5/16" x 3/4" ea

1320245 BOLT - MACHINE, HEX HEAD 5/16" x 1" ea

1320246 BOLT - MACHINE, HEX HEAD 5/16X1-1/4 ea

1320250 BOLT - MACHINE, HEX HEAD 5/16" x 1-1/2" ea

1320255 BOLT - MACHINE, HEX HEAD 5/16" x 2" ea

1320260 BOLT - MACHINE, HEX HEAD 5/16" x 2-1/2" ea

1320265 BOLT - MACHINE, HEX HEAD 5/16" x 3" ea

1320270 BOLT - MACHINE, HEX HEAD 3/8" x 3/4" ea

1320275 BOLT - MACHINE, HEX HEAD 3/8" x 1" ea

1320280 BOLT - MACHINE, HEX HEAD 3/8" x 1-1/4" ea

1320285 BOLT - MACHINE, HEX HEAD 3/8" x 1-1/2" ea

1320286 BOLT - MACHINE HEX HEAD 3/8 X 3-1/2" ea

1320287 BOLT - MACHINE, HEX HEAD 3/8 X 1-3/4 ea

1320290 BOLT - MACHINE, HEX HEAD 3/8" x 2" ea

1320295 BOLT - MACHINE, HEX HEAD 3/8" x 2-1/2" ea

1320300 BOLT - MACHINE, HEX HEAD 3/8" x 3" ea

1320305 BOLT - MACHINE, HEX HEAD 3/8" x 4" ea

1320310 BOLT - MACHINE, HEX HEAD 3/8" x 5" ea

1320315 BOLT - MACHINE, HEX HEAD 1/2" x 1" ea

1320320 BOLT - MACHINE, HEX HEAD 1/2" x 1-1/4" ea

1320325 BOLT - MACHINE, HEX HEAD 1/2" x 1-1/2" ea

1320330 BOLT - MACHINE, HEX HEAD 1/2" x 1-3/4" ea

1320335 BOLT - MACHINE, HEX HEAD 1/2" x 2" ea

1320340 BOLT - MACHINE, HEX HEAD 1/2" x 2-1/2" ea

Please contact procurement coordinator for any equipment needed that is not listed: 

mbisdorf@soomarine.com 

13   Hardware, Nuts, Bolts & Screws

mailto:mbisdorf@soomarine.com
mailto:mbisdorf@soomarine.com
mailto:mbisdorf@soomarine.com


1320345 BOLT - MACHINE, HEX HEAD 1/2" x 3" ea

1320347 BOLT - MACHINE, HEX HEAD 1/2" x 3 1/2" ea

1320350 BOLT - MACHINE, HEX HEAD 1/2" x 4" ea

1320355 BOLT - MACHINE, HEX HEAD 1/2" x 5" ea

1320360 BOLT - MACHINE, HEX HEAD 1/2" x 6" ea

1320370 BOLT - MACHINE, HEX HEAD 5/8" x 1" ea

1320375 BOLT - MACHINE, HEX HEAD 5/8" x 1-1/4" ea

1320380 BOLT - MACHINE, HEX HEAD 5/8" x 1-1/2" ea

1320385 BOLT - MACHINE, HEX HEAD 5/8" x 2" ea

1320390 BOLT - MACHINE, HEX HEAD 5/8" x 2-1/2" ea

1320395 BOLT - MACHINE, HEX HEAD 5/8" x 3" ea

1320396 BOLT - MACHINE, HEX HEAD 5/8" X 3-1/2" ea

1320400 BOLT - MACHINE, HEX HEAD 5/8" x 4" ea

1320405 BOLT - MACHINE, HEX HEAD 5/8" x 5" ea

1320410 BOLT - MACHINE, HEX HEAD 5/8" x 6" ea

1320415 BOLT - MACHINE, HEX HEAD 3/4" x 1-1/2" ea

1320420 BOLT - MACHINE, HEX HEAD 3/4" x 2" ea

1320425 BOLT - MACHINE, HEX HEAD 3/4" x 2-1/2" ea

1320430 BOLT - MACHINE, HEX HEAD 3/4" x 3" ea

1320433 BOLT - MACHINE, HEX HEAD 3/4" x 3-1/2" ea

1320435 BOLT - MACHINE, HEX HEAD 3/4" x 4" ea

1320437 BOLT - MACHINE, HEX HEAD 3/4" x 4 1/2" ea

1320440 BOLT - MACHINE, HEX HEAD 3/4" x 5" ea

1320445 BOLT - MACHINE, HEX HEAD 3/4" x 6" ea

1320450 BOLT - MACHINE, HEX HEAD 3/4" x 8" ea

1320466 ZINC  HEX HEAD 7/8" - 9 x 2" GR5 ea

1320470 BOLT - MACHINE, HEX HEAD 7/8" x 3" ea

1320471 BOLT - MACHINE, HEX HEAD 7/8" X 3-1/2" ea

1320475 BOLT - MACHINE, HEX HEAD 7/8" x 4" ea

1320480 BOLT - MACHINE, HEX HEAD 7/8" x 5" ea

1320485 BOLT - MACHINE, HEX HEAD 1" x 4" ea

1320490 BOLT - MACHINE, HEX HEAD 1" x 6" ea

1320705 BOLT - STOVE, ROUND HEAD 1/4" x 3" ea

1320815 BRACKETS - SHELF 5" x 6" pr

1320820 BRACKETS - SHELF 6" x 8" pr

1320990 CHALK - CARPENTER, WHITE bx

1320995 CHALK - SCHOOL, WHITE bx

1321000 CROCUS POLISHING CLOTH ea

1321002 320 GRIT EMERY CLOTH ROLL 2" x 50 YD rl

1321003 180 GRIT EMERY CLOTH ROLL 2" x 50 YD rl

1321004 120 GRIT EMERY CLOTH ROLL 2" x 50 YD rl

1321005 CLOTH - EMERY, FINE SQ SHEET ea

1321020 CLOTH - EMERY, VERY COARSE #2 SQ SHEET ea

1321200 COTTER - STEEL 1/8" X 1-1/2" ea

1321220 COTTER - STEEL 3/16" X 2" ea

1321366 SANDING DISC - 36 GRIT SANDING DISC FOR 4-1/2" GRINDERS 5/PKG ea

1321367 SANDING DISC - 60 GRIT SANDING DISC FOR 4-1/2" GRINDERS ea

1321368 SANDING DISC - 80 GRIT SANDING DISC FOR 4-1/2" GRINDERS 5/PK ea

1321369 SANDING DISC - 120 GRIT SANDING DISC FOR 4-1/2 ea

1321370 BELT DRESSING SPRAY (12 OZ.) ea

1321392 ARGON 75/25 SIZE 125 ea

1321393 PROPANE TANK - BERNZAMATIC ea



1321394 ACETYLENE TANK - SIZE 4 MEDIUM ea

1321395 OXYGEN TANK - SIZE 125/150 MEDIUM ea

1321396 OXYGEN TANK - SIZE 80 ea

1321398 NITROGEN TANK - SIZE 200 ea

1321400 ACETYLENE TANK - SIZE MC ea

1321401 OXYGEN TANK - SIZE 200 X-LARGE ea

1321402 OXYGEN TANK - SIZE 20 ea

1321403 ACETYLENE TANK - SIZE 3 ea

1321404 ACETYLENE TANK - SIZE 5 X LARGE ea

1321405 PROPYLENE (PP 60) ea

1321459 SUPER GLUE ea

1321460 GLUE - CONTACT CEMENT (GAL)  ***S.O.*** gal

1321485 GLUE - ELMER'S 1/2 PT.  ***S.O.*** ea

1321495 HINGE - HASP 3" ea

1321500 HINGE - HASP 4-1/2" ea

1321505 HINGE - HASP 3-1/4" ea

1321510 HINGE - HASP 8" ea

1321535 HINGE - BRASS BUTT 3" pr

1321540 HINGE - LOOSE PIN STEEL BUTT 2"  ***S.O.*** pr

1321550 HINGE - LOOSE PIN STEEL BUTT 3"  ***S.O.*** pr

1321580 HINGE - STRAP, LIGHT 3" pr

1321590 HINGE - STRAP, HEAVY 5" pr

1321625 HOOK - COAT AND HAT, BRASS  ***S.O.*** ea

1321650 HOOK - CUP, BRASS 1-1/4"  ***S.O.*** ea

1321695 HOOK - GATE/EYE, BRASS 3"  ***S.O.*** ea

1321720 HOOK - PACKING, #1 DURA ea

1321725 HOOK - PACKING, #2 DURA ea

1321730 HOOK - PACKING, #3 DURA ea

1321750 HOOK - SCREW, BRIGHT, ROUND END 2-1/2" ea

1321755 HOOK - SCREW, BRIGHT, ROUND END 2-1/4" ea

1321760 HOSE - AIR, ONE BRAID 5/16" ID, 5/8" OD  ***S.O.*** ft

1321761 AIR HOSE NOZZLE, DIXON #D204-30 ea

1321945 PADLOCK - MASTERLOCK, 3/4" SHACKLE, SINGLE LOCK, KEYED ea

1321956 PADLOCK - MASTERLOCK, 3/4" SHACKLE, 4-PACK, KEYED ALIKE ea

1321957 PADLOCK - RED SAFETY SINGLE ea

1321958 MULTIPLE LOCK-OUT DEVICE ea

1321959 DANGER TAGS 5/pk pk

1322090 NUTS - BRASS, FOR MACHINE SCREW #8 - 32 THD ea

1322095 NUTS - BRASS, FOR MACHINE SCREW #10 - 24 THD ea

1322120 NUTS - IRON, FOR MACHINE SCREW #10 - 24 THD ea

1322130 NUTS - IRON, FOR MACHINE SCREW 1/4" 20 THD ea

1322135 NUTS - IRON, FOR MACHINE SCREW 5/16" 18 THD ea

1322140 NUTS - IRON, FOR MACHINE SCREW 3/8" 16 THD ea

1322145 NUTS - BRASS, SEMI FINISH 1/4" ea

1322150 NUTS - BRASS, SEMI FINISH 5/16' ea

1322155 NUTS - BRASS, SEMI FINISH 3/8" ea

1322160 NUTS - BRASS, SEMI FINISH 1/2" ea

1322165 NUTS - BRASS, SEMI FINISH 5/8" ea

1322170 NUTS - BRASS, SEMI FINISH 3/4" ea

1322175 NUTS - IRON, SEMI FINISH 1/4" ea

1322180 NUTS - IRON, SEMI FINISH 5/16" ea

1322185 NUTS - IRON, SEMI FINISH 3/8" ea



1322190 NUTS - IRON, SEMI FINISH 7/16" ea

1322195 NUTS - IRON, SEMI FINISH 1/2" ea

1322200 NUTS - IRON, SEMI FINISH 9/16" ea

1322205 NUTS - IRON, SEMI FINISH 5/8" ea

1322210 NUTS - IRON, SEMI FINISH 3/4" ea

1322215 NUTS - IRON, SEMI FINISH 7/8" ea

1322220 NUTS - IRON, SEMI FINISH 1" ea

1322225 NUTS - IRON, SEMI FINISH 1-1/8" ea

1322230 NUTS - IRON, SEMI FINISH 1-1/4" ea

1322235 NUTS - IRON, SEMI FINISH 1-3/8" ea

1322240 NUTS - IRON, SEMI FINISH 1-1/2" ea

1322250 NUTS - THUMB OR WING, BRASS, TAPPED 1/2" ea

1322260 NUTS - THUMB OR WING, FORGED STEEL, TAPPED 1/4' ea

1322265 NUTS - THUMB OR WING, FORGED STEEL, TAPPED 5/16" ea

1322275 NUTS - THUMB OR WING, FORGED STEEL, TAPPED 1/2" ea

1322280 NUTS - THUMB OR WING, FORGED STEEL, TAPPED 5/8" ea

1322285 NUTS - THUMB OR WING, FORGED STEEL, TAPPED 3/4" ea

1322287 NUTS - NYLOCK 5/8"  Z  ***S.O.*** ea

1322288 NUTS - NYLOCK 3/4" Z  ***S.O.*** ea

1322289 NUTS - NYLOCK 1/2"  ***S.O.*** ea

1322290 NUTS - NYLOCK, 3/8"  ***S.O.*** ea

1322291 NUTS - NYLOCK, 1/4" ***S.O.*** ea

1322309 ALUMINUM FLASHING 36" X 50'  ***S.O.*** rl

1322310 SANDPAPER - ALUMINUM OXIDE, 220 FINE GRIT ea

1322314 SANDPAPER - ALUMINUM OXIDE 120 GRIT ea

1322315 SANDPAPER - ALUMINUM OXIDE, 100 MEDIUM GRIT ea

1322317 SANDPAPER - ALUMINUM OXIDE 80 COARSE ea

1322320 SANDPAPER - ALUMINUM OXIDE, 60 COARSE GRIT ea

1322325 SANDPAPER - ALUMINUM OXIDE, 36 VERY COARSE GRIT ea

1322524 ROD - THREADED 5/8" x 3' ea

1322525 ROD - THREADED 1/4" x 3' ea

1322526 ROD - THREADED 5/16" x 3' ea

1322527 ROD - THREADED 3/8" x 3' ea

1322528 ROD - THREADED 1/2" x 3' ea

1322529 ROD - THREADED 3/4" x 3' ea

1322530 ROD - THREADED 7/8" x 3' ea

1322548 ROD - THREADED 5/16 X 6' ***S.O*** ft

1322600 RIVET FOR WATERTIGHT STEEL DOORS - 3/16" ea

1322605 RIVET - DOME HEAD TYPE 3/16" ea

1322610 POP RIVET - ALUMINUM 3/16" ea

1322620 SCREW - CAP, FLAT HEAD, STEEL 1/2" x 2" ea

1322625 SCREW - CAP, FLAT HEAD, STEEL 1/2" x 2-1/2" ea

1322630 SCREW - CAP, FLAT HEAD, STEEL 5/8" x 2" ea

1322660 SCREW - CAP, HEX HEAD, STEEL 5/16" x  3/4" ea

1322680 SCREW - CAP, HEX HEAD, STEEL 3/8" x 1/2" ea

1322715 SCREW - CAP, HEX HEAD, STEEL 7/16" x 1" ea

1322720 SCREW - CAP, HEX HEAD, STEEL 7/16" x 1-1/2" ea

1322725 SCREW - CAP, HEX HEAD, STEEL 7/16" x 2-1/2" ea

1322730 SCREW - CAP, HEX HEAD, STEEL  7/16" x 3" ea

1322735 SCREW - CAP, HEX HEAD, STEEL 1/2" x 3/4" ea

1322770 SCREW - CAP, HEX HEAD, STEEL 9/16" X  2-1/2" ea

1322870 SCREW - EYE, SIZE #8, BRIGHT, STEEL 1/2" EYE, 1-1/2" OVERALL ea



1322880 SCREW - MACHINE, FLAT HEAD, BRASS, #10 - 1/2" LONG, 24 THD ea

1322955 SCREW - MACHINE, ROUND HEAD, BRASS, #8 - 1/2" LONG 32 THD ea

1322960 SCREW - MACHINE, ROUND HEAD, BRASS, #10 - 1/2" LONG 24 THD ea

1322965 SCREW - MACHINE, ROUND HEAD, BRASS, 1/2" LONG 1/4" 20 THD ea

1322975 SCREW - MACHINE, ROUND HEAD, BRASS, #8 - 3/4" LONG 32 THD ea

1322980 SCREW - MACHINE, ROUND HEAD, BRASS, #10 3/4" LONG 24 THD ea

1322985 SCREW - MACHINE, ROUND HEAD, BRASS, 3/4" LONG 1/4" 20 THD ea

1322990 SCREW - MACHINE, ROUND HEAD, BRASS, 3/4" LONG 5/16" 18 THD ea

1322998 SCREW - MACHINE, ROUND HEAD, BRASS, #6 - 1" LONG 40 THD ea

1323000 SCREW - MACHINE, ROUND HEAD, BRASS, #8 - 1" LONG 32 THD ea

1323005 SCREW - MACHINE, ROUND HEAD, BRASS, #10 1" LONG 24 THD ea

1323010 SCREW - MACHINE, ROUND HEAD, BRASS, 1" LONG 1/4" 20 THD ea

1323015 SCREW - MACHINE, ROUND HEAD, BRASS, 1" LONG 5/16" 18 THD ea

1323045 SCREW - MACHINE, ROUND HEAD, BRASS, #8 - 2" LONG 32 THD ea

1323499 SCREW - SHEET METAL, PAN HEAD, #4 1/2" LONG ea

1323500 SCREW - SHEET METAL, PAN HEAD, #8 3/8" LONG ea

1323501 SCREW - SHEET METAL, PAN HEAD, #6 1/2" LONG ea

1323505 SCREW - SHEET METAL, PAN HEAD, #7 1/2" LONG ea

1323510 SCREW - SHEET METAL, PAN HEAD, #8 5/8" LONG ea

1323511 SCREW - SHEET METAL, PAN HEAD, #8 3/4" LONG ea

1323512 SCREW - SHEET METAL, PAN HEAD, #8 1" LONG ea

1323514 SCREW - SHEET METAL, PAN HEAD, #12  3/4" LONG ea

1323515 SCREW - SHEET METAL, PAN HEAD, #10 3/4" LONG ea

1323516 SCREW - SHEET METAL, PAN HEAD, #10 1" LONG ea

1323517 SCREW - SHEET METAL, PAN HEAD, #10 1-1/4" LONG ea

1323519 SCREW - SHEET METAL, PAN HEAD, #14 3/4" LONG ea

1323520 SCREW - SHEET METAL, PAN HEAD, #14 7/8" LONG ea

1323521 SCREW - SHEET METAL, PAN HEAD, #14 1" LONG ea

1323522 SCREW - SHEET METAL, PAN HEAD, #14 1-1/4" LONG ea

1323523 SCREW - SHEET METAL, PAN HEAD, #14 1-1/2" LONG ea

1323525 SCREW - SHEET METAL, PAN HEAD, #14 1-3/4" LONG ea

1323530 SCREW - SHEET METAL, PAN HEAD, #12  1" LONG ea

1323825 SCREW - WOOD, FLAT HEAD, STEEL, #8 1" LONG ea

1323830 SCREW - WOOD, FLAT HEAD, STEEL, #9 1" LONG ea

1323865 SCREW - WOOD, FLAT HEAD, STEEL, #9 1-1/2" LONG ea

1323955 SCREW - WOOD, ROUND HEAD, #7 (3/4" LONG) ea

1324045 SNAP - FOR HARNESS 1" ea

1324050 SNAP - FOR GALVANIZED BOAT 4.75" ea

1324055 SNAP - SWIVEL FOR 3/4" ROPE ea

1324057 HOOKS - GALVANIZED WITH BAR SNAP (QUICK DISCONNECT) ea

1324059 HOOKS - GALVANIZED WITH SNAP (QUICK DISCONNECT) ea

1324060 SOAP STONE - FOR METAL WORKERS ea

1324065 SOLDERS ACID CORE (1#/SPOOL)  ***S.O.*** ea

1324075 SOLDER ROSIN CORE (1#/SPOOL)  ***S.O.*** ea

1324085 SOLDERING PASTE (2 OZ.)  ***S.O.*** ea

1324110 STONE -CARBORUNDUM 4" X 1-3/4" X 5/8"  ***S.O.*** ea

1324115 STONE -CARBORUNDUM, OIL 1" X 2" X 8"  ***S.O.*** ea

1324225 TAGS - BRASS KEY, RECTANGULAR (2-1/2") ea

1324229 MASKING TAPE 3" ea

1324230 MASKING TAPE 1" ea

1324231 MASKING TAPE 2" ea

1324232 DUCT TAPE 2" rl



1324233 DUCT TAPE 3" ea

1324240 WASHERS - BRASS 1/4" ea

1324245 WASHERS - LOCK 3/16' ea

1324250 WASHERS - LOCK 1/4" ea

1324252 WASHERS - LOCK 5/16" ea

1324255 WASHERS - LOCK 3/8" ea

1324260 WASHERS - LOCK 1/2" ea

1324265 WASHERS - LOCK (5/8 ea

1324270 WASHERS - LOCK 3/4" ea

1324275 WASHERS - LOCK 7/8" ea

1324277 WASHERS - LOCK 1" ea

1324280 WASHERS - WROT 3/16" ea

1324285 WASHERS - WROT 1/4" ea

1324290 WASHERS - WROT 5/16" ea

1324295 WASHERS - WROT 3/8" ea

1324300 WASHERS - WROT 1/2" ea

1324305 WASHERS - WROT 5/8" ea

1324310 WASHERS - WROT 3/4" ea

1324315 WASHERS - WROT 7/8" ea

1324320 WASHERS - WROT 1" ea

1324325 WASHERS - WROT 1-1/8" ea

1324330 WASHERS - WROT 1-1/4" ea

1324335 WASHERS - WROT 1-3/8" ea

1324340 WASHERS - WROT 1-1/2" ea

1324345 BEES WAX ea

1324485 WIRE - STOVE PIPE, 18 GAUGE 5#/ COIL ea

1340940 WASTE CAN RED 10GAL FOOT OPERATED  ***S.O.*** ea

1340945 CAN - OILY WASTE (10 GALLON)  ***S.O.*** ea

1341805 LADDER 4' FIBERGLASS  ***S.O.*** ea

1341810 LADDER 6' FIBERGLASS  ***S.O.*** ea

1341815 LADDER 8' FIBERGLASS  ***S.O.*** ea

1341830 24' ALUMINUM EXTENSION LADDER -300# RATED  ***S.O.*** ea

1341838 40'  ALUM EXT. LADDER  ***S.O.*** ea

1341881 PLEXIGLASS - 1/4" X 48" X 48"  ***S.O.*** ea

1341882 PLEXIGLASS - 1/4" SOLD BY SQUARE FOOT  ***S.O.*** sq ft

1342003 V-BELT - A-33  ***S.O.*** ea

1342005 V-BELT - A-35  ***S.O.*** ea

1342006 V-BELT - A-36  ***S.O.*** ea

1342020 V-BELT - A-46  ***S.O.*** ea

1342040 V-BELT - A-70  ***S.O.*** ea

1342045 V-BELT - A-78  ***S.O.*** ea

1342057 V-BELT - B-35  ***S.O.*** ea

1342061 V-BELT - B-44  ***S.O.*** ea

1342062 V-BELT - B-46  ***S.O.*** ea

1342065 V-BELT - B-52  ***S.O.*** ea

1342069 V-BELT - B-53  ***S.O.*** ea

1342075 V-BELT - B-55  ***S.O.*** ea

1342090 V-BELT - B-60  ***S.O.*** ea

1342091 V-BELT - B-61  ***S.O.*** ea

1342095 V-BELT - B-64  ***S.O.*** ea

1342100 V-BELT - B-70  ***S.O.*** ea

1342110 V-BELT - B-74  ***S.O.*** ea



1342115 V-BELT - B-75  ***S.O.*** ea

1342120 V-BELT - B-78  ***S.O.*** ea

1342125 V-BELT - B-81  ***S.O.*** ea

1342126 V-BELT - B-86  ***S.O.*** ea

1342130 V-BELT - B-83  ***S.O.*** ea

1342131 V-BELT - B-85  ***S.O.*** ea

1342133 V-BELT - B-93  ***S.O.*** ea

1342134 V-BELT - B-96  ***S.O.*** ea

1342135 V-BELT - B-108  ***S.O.*** ea

1342140 V-BELT - B-120  ***S.O.*** ea

1342155 V-BELT - B-140  ***S.O.*** ea

1345000 WELDING ROD -  #7018 3/32"  1#  ***S.O.*** lb

1345005 WELDING ROD -  #7018 1/8"  1 #  ***S.O.*** lb

1345006 WELDING ROD - #6010 1/8"  ***S.O.*** lb

1345010 WELDING ROD -  #7018 5/32"  1#  ***S.O.*** lb

1345055 2001 SPARK LIGHTER SINGLE FLINT [10 PER BOX] ea

1345080 ELECTROD HOLDER ea

1345200 WELDING CABLE CONNECTORS ea

1362605 SACK - BURLAP ea

1362610 KANT SLAM DOOR CLOSER ea

1381699 HOOK - GRAB  CLEVIS 1/4" ea

1381700 HOOK - GRAB CLEVIS 3/8" ea

1381701 HOOK - GRAB CLEVIS 5/16 ea

1381705 HOOK - GRAB CLEVIS 1/2" ea


